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11.2 HW Solutions

Monday, November 16, 2015
7:33AM

For Exercises 1-6, use the information sh

in the figure below. l . u §! V\ﬂ U: Qw(y” d>
d=24 fnd a: 1= a 1o 10-24)

xX= lo “F=loa(-Y)
t):—'?“ “7 = -1yoa
a> . 0S8

» Use the Distributive Property to rewrite your equation from
Exercise 1 in the form v = ax® + bx.

Does your equation represent a quadratic function? Explain. Z = 05 ( ’2 Lk
Use one of your equations to find the coordinates of the vertex of : ISP S

the parabola

. What is the equation of the parabola in the form y = avlxy — d)? f f ? = . 05 x( X .—.2 L')

W AW N

Describe where the axis of symmetry in the parabola is located.
Find its equation
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6. Which of these points lie on the parabola? ' ( q )

2
4,-4) (-6 (14,-7 (18, -54)  (20,4) —Y= -0565‘)?'* \'Z(Lﬂ

7 a. Find an equation of a quadratic function that passes through —_ = -y
the following points: the origin, (5, 0), and (2, 6). -_.\
b. Does the graph open upward or downward? @
c. What do you notice about the coefficient of the x? term of your \ “dre |
; ) - v$o ool
equation? 2,b) (¥ *—D ™~ e

(0 Ol e ofun powndd...
W= oot - d) B (19,7 and (1g,-5Y) art alp
oy d=5 x=2Z Y=L v T parsiola,
b=xalaS
L= 2a (-3

L= -ba
G b [97 Hx-9)]

©) Douwmio b
cy o s negahve

2 s to gt (D)

8)a) Y= -PNxD2S)

8. The equation of a quadratic function that passes through the origir

Tz alvn (w2

is y = 5x(x — 25).
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B)a) Y= H-PNLxDN-2a3)
8. The equation of a quadratic function that passes through the origir
is y = Sx(x - 25). - _ ( _
a. Suppose the graph of the original function is translated 2 units b = 5 (X 2") X aqj‘l

to the right. Find an equation of the new function.

b. Suppose the graph of the original function is translated 3 units ;
to the left. Find an equation of the new function. ‘[/b ( >

c. Suppose the graph of the original function is translated h units b) 2 \/UM}S "\'b ‘L - ?(, T
horizontally. Find an equation of the new function.

9. Itis very difficult to just look at a graph and tell whether it is or is ‘LJ’ = 5 (X'\"b) E(& ‘\’5) '363

not a parabola because not all U-shaped graphs are parabolas.

a. Onth t of axes, h the functi =xy=x2 -
et X A | W= 50 %2) (x-27) |

b. What do you notice about these graphs?
<. Using your observations, how would you expect the graph of

4= tolok? C) N ouwk Aty o (W)
= 5(xW [ (x-W) -25)
n= 50w (x-n-25)f
A A\ louct Y =% Gt (Wruts - BV gragh  paseS
WYW{)‘N g orivin anmd (1)),

AW A/ Powuz_(bc Po»'\{/vr) :z)“ A 5\%{3{0(
¢ 0dd powtR = mot “y* ghaped

_=;‘ O‘C’B .4\6774“ wod Yook  \ike &T U‘"l oPe_an\o) wp,
' o X narvow<ft Hhom e pPurs.
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